F (a) The matrix

Math 1711 Finite Math Fall 15

Practice Exam 2

1. True or False questions.

corresponds to a system of linear equations
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‘ {b) Given two mutually exclusive events & and F, we have P(E or F) =
P(E)+ P(F). Siace. PLEDE)=0
T(c) If E snd F are independent events then P(E and F') = P(E)- P(F|E). kpa_ag- Troe, '

T(d) If ] is the 3 x 3 identity matrix and A is any 3 x 3 matrix, then A7 = J4. P trenloNV U“""
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F {e) Roll a die and record the number and et £ and F be the following N egents

events E = {2,4,6} and F = {1,3,5}. Then the events E and F are
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2. Find the matrix product of AB and BA if
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3. Solve the system of linear equations with augmented matrix A given below. [?'e K
elementary row operations to obtain the rref (reduced row echelon form) of A and
be precise in your answer. You should assume that the column variables are z, y, 2

in the usnal order.
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4, Consider an experiment where two fair dice are rolied and the sum of the two
pumbers are recorded. Let X be the sum of the two numbers which appear face
up on the dice. Find the expected value and variance of X.
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12, uppose four fajy die are rofled. What is the probability that at least one of th
J "3' ie shows either a 1 or a 27 _
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biemid el wite N=H and p=ifz,
X= # of svrcess  Se

P10 1= Plx=0) = (- (2)'= 86, 2477,

6. Consider the following two-stage experiment. First, we draw a card from a 52-card
deck. If the card is a face-card then we flip a coin, and if it is pot a face card then
we roll a die. Find the probability that we end the sequence with a “6” on the die
or with a “heads” on the coin.
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7. Let X be a normally distributed continuous random variable with 4 = 6 and

¢ = 2. Find P(X < 5) and P(2.5 < X < 10).
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8. A washing machine mamﬁacturer
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its machines br down n
the first year. Estimate the probability of at least 15 out of 1000 washers breaking '

down in the first year
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